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# He H # 108411488
X A BE
B E(kg/m’) 211
15 g B LTS
5, 8 (%) 40.61 42.61
W % A 8 (%) 9.79 9.55
A EEER (%) 4.77 5.16
; Bt £ B (%) 16.40 11.12
" % # i 8 (%) 24.61 27.20
15 BE B8 (%) 0.14 0.22
- H . (%) 2.68 2.38
%ka S it (%) 99.00 98.24
. w2 & (%) 039 o 0.69
F| 3k 8 & B 8 (%) 0.06 0.11
| % 2 8 (%) 0.34 0.60
WmlE 1 R B 4 (%) 0.21 0.36
A it (%) 1.00 1.76
= | % A (%) 45.20
R & o (%) 10.54
ala|T o (%) 44.26
Eail o (%) 25.66
| & (%) 2.96
~ | Fy (%) 15.02
a|® R %) 0.43
23 ;? # (%) 0.04
~ £ (%) 0.15
iy 3 Ltk 60
# 37 AL 35 3 & (keal/kg) 4660
B LRA S A2 (keal/kg) 2554
T B AR E B8 (keal/kg) 2123
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# #H H # 108411 A8H
X . i
EuEHE(kg/m’) 201
18 B8 B A i
4 # (%) 31.52 30.53
4 # A (%) 8.02 8.46
A EEEHE (%) 2.67 2.93
;; &t £ # (%) 34.91 30.59
s | d 3 8 (%) 17.50 21.55
i BE BB (%) 0.50 0.88
g B # (%) 3.81 3.19
ﬁi & #+ (%) 98.93 98.13
& kB = (%) 002 0.02
R & & B # (%) 0.01 0.01
A 7 # (%) 0.58 1.03
Wl E & R B B (%) 0.46 0.81
=2 it (%) 1.07 1.87
=%k a5 (%) 45.45
| A & o (%) 11.65
AR o (%) 42.90
A T (%) 23.09
28 f, (%) 2.76
~7 F (%) 16.03
A i %) 071
A 3 (%) 0.05
= a (%)| 0.26
55 0 L 33
# 3¢ 34 3 2 (keal/kg) 4225
B IR A S % 2 # (keal/kg) 2305
F RAAKALE 3 (keal/kg) 1883
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% # E # 108411484
X # 73
s E(kg/m’) 177
i E] B -3
4 # (%) 39.45 41.74
b A s (%) 5.02 5.86
AAEEFEEHE (YD) 5.06 4.71
; B & @ (%) 23.63 15.82
" 2 B | (%) 23.48 28.32
& EE BB E (%) 0.04 0.07
. 1t t (%) 2.97 2.89
r & 3 (964 99.65 99.41
s & B 3 (%) 0.02 0.03
| & 2 B 8 (%) 0.01 0.02
wl s 3 s (%) 0.29 0.49
Wl e F B (%) 0.03 0.05
A 5 (%) 0.35 0.59
=% % (%) 43.57
w & » (%) 11.66
a|7[T w5 (%) 44.77
il # (%) 26.46
A & (%) 3.04
~ g 5 (%) 14.63
B ] (%) 0.44
M i (%) 0.04
- £ (%)| 0.16
T 60
i g2 5 35 # & (keal/kg) 4696
B A S E (keal/kg) 2650
F B A KA 5 B8 (keal/kg) 2224
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